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(a) ®9 (b) S () & (d) ST
(e) IRa

102. f5Tdtvs & gar o7 ]2
@T (b) PRFT (c) STt (d) freme
(e) BT

103. ‘Fft st ofieft’ onft fobw 3w & werm=ht €2
@AW (b)) U= () el G (d) eH
(e) AR

104. 2t Ja1 Ugrar AT IR A B & F (FRad, 2016) W
TmEd W gEaer by €, S AERY WER ¥ ‘BN
fior @ v foem (wEES)’ & 9w 8, Tsw # 75000

T AR & IR fba auf & yem Ham?
(@)5 9y (b) 3 @
()7 T (d) 10 &
(e)2 T

105. gam fw 3w & e 82
(a) T (b) PreifeaT
(c) ATEIRT (d) sprafer
(e) faett

196,70 ST Bfeead A TR WE R W g @
3 (Remw, 2015) & wvu= gom, fow wwdia oo & swant

FTar g3 An?

a) S| W (b) fEmaer W
c) IFY Teq (d) 7ET e

&) U Wl

107. <R Hifar & T s 3 g & & (wRad, 2016)
defie a1 fiem & R 5y wrdw 70 & a9 T8

T F IR R Wt 7 BT =R fhar 872
(a) TERTSE (b) &Raro
() i (d) TSR
(e) it W

108. ‘Ut BV’ W U Afe-BR Wifthe HHAT B, e
T IR I WUGY qUT T T F IR F g 3 R,
7a & # f5ud a1 gF & T ]2
(a) ITEHE WH g M @A (b) ey FAR 9 AR I
(c) 5, g BT Ao (d) IIfraTT Tee @ S ae
(e) 3R @H 7 fowur 7

109.f59 2w 3 =@ &€ & (wadt, 2016) wibsa™ & $700
faftr $iwa & wA WU F-16 d8g fawm d99 @
thaar far &2

(a) ITT (b) BT
RCEE (d) |
(e) ST

110.She-taxi St qUf ®7 & 24 x 7 qTeft 3% B 1w, Afgameit
g Afgenelt & g dft, forw ety T & g gt

(a) UfPeH e (b) I
(c) THeTg (d) FTeD
(e) FIBIRTSS,
111. ety weitfs 3 T sueasma ¢ gafdve &1 gow
wa Raars feus wifsra s Sfiar 82
(a) AR HewR (b) WUt W
(c) fiesa R (d) S U=t
(e) ¥ foe

112.} fawa & 2 after’ &t fw fiaw & wv & wmy wram 22
(a) farea SucTRIegaT WTadt RRaw (b) faea 1t ey foaw
(c) forea g ta didRTEe g (d) faeg eveht feaw
(e) fea udrers SImowar fogd

113. wrefty wfgen Gesia w3 ga & § (wad, 2016) Tw=
gféor QR @t § o Wl 1ge WemR @, A 3
wafr fesam?

() ST (o) =ered
(c) *[eH (d) Hictent
(e) TTfrea™

114.2016 &7 G-20 TG fby T8 wedfad 82
(a) &I, B (b) Rreft, e forar
(c) Hiwp!, & (d) 7 feeeft, WRa
(e) SR, Jebl

115970 # 59 750 & WHR T WRd H 1YW IY @A
TERY HRIHH H YEATT B 37
(a) 3T7Y SR (b) SOV TIT
(c) 7ENTSS (d) oTgR
(e) i

116. 3ve fiedert 6t afger g gt 2016 fow gt 3 sfiar 32
(a) ST it -sie f&fa



U

117.wwﬁ%wmaiaé‘2015@wmﬁawﬂﬁa‘$ah
R ST ST 2, fw et e  safeud R12

(a) TG (b) STR W&
(c) Tt e (d) e
(e) STRIETS

1187 ¥ (G, 2016) oR@ER & wdam afur-qd Hre
wen Rifs (wedew) @ @@ goew fies &
et 2, 3w & gea a9 e AR woe Red
e 25 FRw o fvad g, @ o < §, 7 fa
et oy & @ e ?

(a) BEINTTS (b) TIRETS
(c) afeam §el (d) fogr
(e) A%T W&

119.Wqﬁmﬁﬁﬁmﬂvﬁdwwzmsﬁﬂ?mm

g

(a) HficTan OERE
(c) qeH (d) WRd
(6) AuTe

120,70 WA 5 G S ARG $ W TR T AR

(T 5) 3 s

Directions (Q. Nos. 121-125) Each of the sentence
has two blanks, indicating that something has been
omitted. Choose the option which best fits the
meaning of the sentence as a whole.
121. Technology ............ channels, be it internet or mobile,

<esrsrer.n. U get more information on new medicines.

(a) prepare; support (b) handicapped; blocks

(c) enabled; help (d) approved; lit

(e) empowered; guides

122. In developing countries, farmers lack ............ to
irrigation and crop insurance which aids in ............
weather-related risks.
(a) access; mitigating
(c) entry; tackling

(e) way; easing

(b) approach; assessing
(d) opportunities; removing

123. The new scheme ............ to catalyse the overall
regional growth, which would be ............ for both
rural and urban area of the country.

(a) aims; beneficial (b) sought; harm

(c) prompts; helps (d) design; prove

(e) intends; useful

124. or not the budget will lead to an increase in
farm sector spending can only be answered when a
detailed analysis of it is ............ :

(a) If; their (b) Even; accessible

(c) Whether; available (d) Either; calculated

() Since; conducted

125. A number of factors are ............ to likely to financially
assist the middle class ............ the next two decades.

(a) inclined; for

(b) hopefully; by

(c) probably; within

(d) responsible; on

(e) likely; ever

Directions (Q. Nos. 126-130) Rearrange the given
five sentences A, B, C, D and E in a proper sequence
as to form a meaningful paragraph and then
answer the given questions.

A. But, they should be.

B. Tt is true- these companies can cost you thousands of
dollars a year and you may not receive any return on
that investment, unless you file a claim.

C. In fact, besides this impact, without the insurance
industry, the economy would practically come to a
standstill.

D. Think of an insurance company and unless you have
had a significant claim paid, your thoughts may not
be too positive.

E. Yet, it is difficult to think of another industry that
has a more positive impact on the economy.

126. Which of the following should be the FIFTH (LAST)

sentence after arrangement?

(@D (b) B (c)A (d)C (e)E

Which of the following should be the FIRST sentence

after rearrangement?

() C (b) A ©B (d) E ©)D

Which of the following should be the FOURTH

sentence after rearrangement?

(@) A (b) B (c)C (d)E ©)D

Which of the following should be the THIRD sentence

after rearrangement?

(8)C (b) B © A (d)D ©E

Which of the following should be the SECOND

sentence after rearrangement?

() B (b) A (©E (d)D ) C

Directions (Q. Nos. 131-135) Which of the ph

given against the sentence should replace the

word | phrase given in bold in the sentence to make
it grammatically correct? If the sentence is correct

it is given and no correction is required, mark

correction required’ as the answer.

131. The spectacular rise of China has become arguably
the most important geopolitical development of the
past decade.

(a) have been arguably

(c) has been arguably
() No correction required

1217.

128.

129.

130.

(b) is arguable
(d) has being arguably




132. As entrepreneurs, we must faithful be to the
organisation we have set out to build.
(a) faithfully be (b) must faithful
(c) must be faithful (d) be must faithful
(e) No correction required

133. The economic turmoil in the world today has once
again thrown the spotlight on the economics
profession.

(a) have thrown again
(c) again has once
(e) No correction required

(b) has thrown once again
(d) had threw

134. The government is set double annual spending on
irrigation and crop insurance.
(a) to setis (b) to setting is
(c) are setting (d) is set to
(e) No correction required

135. The upcoming budget certainly has the potentially
to catapult the economy into a high-growth orbit.
(a) has the potential (b) potential
(c) has potent (d) the potential
() No correction required
Directions (Q. Nos. 136-140) Read these sentences
W fnd out whether there is any grammatical error
e it. The error, if any, will be in one part of the
semtence. Mark the part with the error as your
wnswer. If there is no error, mark ‘No error’ as your
wmswer. (Ignore the errors of punctuation, if any)
L35, Although I prepared myself/ for appear strong/ to my
mother, my heart/ ached and cried.
Although | prepared myself (b) for appear strong

0 my mother, my heal (d) ached and cried
= No error ¢

(SN

237, The department will/initiate a campaign/ to promote
organic farming/across the State.
= The department will
= nitiate a campaign
= o promote organic farming
@ across the State
&) No error

Fancy words in place of/the numerical registration
mumber/on your vehicle will/landed you in trouble.
=ancy words in place of
e numerical registration number
o your vehicle will
2nded you in trouble
No error
The Slm industry took note for/his talent and the
actor has finally bagged/three plum roles in Telugu
mOvies.
= The Sim industry took note for
2 fis t=alent and the actor
) mas finally bagged
= Tw=e plum roles in Telugu movies
= No emror

man o

The boy was/allegedly shot at/ by robbers and/ was

& The boy was (b) allegedly shot at
iz} Dy robbers and (d) was hospitalised
& No error

Directions (Q. Nos. 141-150) Read the following
passage carefully and answer the questions. Certain
words [ phrases are given in bold to help you locate
them while answering some of the questions.

Investors have poured billions of dollars into ‘fintech’
start-ups, creating hundreds of new firms determined to
shake up lending, payments, broking and data, among
other financial niches. Insurance, however, has not yet
been subject to this. That may be changing. ‘Insurance is
tricky to break into’. The most important is regulation.
Health insurance—or its American version, at
least—may be the most heavily regulated industry in the
world. Before a company can even offer a policy, it must
have multiple approvals from state and often city
agencies and then negotiate agreements with local
hospitals. Running the gauntlet of regulations is costly
and furthermore company that set-up shop today could
not issue any policies before 2018 at the very earliest.
The second reason is capital.

Fintech firms typically receive backing from venture
capitalists to pay for salaries, systems, infrastructure,
but not to support a big balance-sheet. Many tend to
structure their operations to avoid holding risky assets
for any length of time, acting more as intermediaries
between creditors and borrowers, investors and
investments, or the sender of some money and the
recipient. This sort of arrangement does not work as well
for insurance. Unless a firm serves purely as a broker, it
will end up carrying some risk, and the weighty capital
requirements that come with it.

What is more, customers will not take out policies unless
they are confident that the issuer will be around to
honour them when a claim is made. But a startup, by
definition, does not have the record or reputation that
would help bolster that confidence. Lemonade, an
American startup, plans to offer insurance via a
peer-to-peer platform—in effect, acting as a middleman.
Others, such as Guevara in Britain and Friendsurance
in Germany, try to get groups of friends to pool risks, on
the assumption that they know better than the actuaries
how accident-prone their nearest and dearest are.

This also helps get around the problem of confidence.
Metromile, a startup car insurer based in San Francisco,
takes a different tack. Its policies are underwritten by
another insurer, National General. For now, that allows
it to hone its technology and increase its customer base.
But in time retained earnings, reinsurance and debt
could enable it to retain more risk, as more mature
insurance firms do. Like many insurers, Metromile seeks
to cherry-pick the least risky customers. For car
insurance, that involves working out which are least
likely to have an accident. Several big insurance
companies, most notably Progressive in America and
Aviva in Britain, have begun to use tracking devices or
voluntary apps on cars to monitor how safely their




customers drive. How fast they go and how hard they
brake are just a couple of the factors that can be used to
sort the cautious from the reckless. Metromile, in
contrast, tracks mileage. ‘
Customers pay a fee of $ 45-50 a month and then $ 0.05
to $0.06 cents a mile. There is a clear correlation,
Metromile contends, between miles driven and the
likelihood of an accident. It reckons there are 75 m
vehicles in America that are driven only rarely, but
insured at a cost of $73 billion a year. Offering a
metered option may not only save their owners some
money, but also go some way to disproving the view that
insurance and fintech do not mix.

141. Choose the word which is most nearly the same in
meaning as the word ‘Hone’ given in bold as used in

the passage.

(a) Enhance (b) Drill

(c) Talent (d) Repeat
(e) Laxity

142. Which of the following factors play(s) a role in the
success of an insurance startup?
A. A well-established track record of selling claims.
B. Availability of capital to comply with regulations and

expand operations.
C. Lack of confidence in government insurers.
(@) Only C : (b)Band C
(c)Aand B (d) Only B
(e) Only A
143. What is the author’s view of companies like
Metromile?

(a) These have taken on too much risk to succeed.

(b) These have been duping customers by overcharging on
premiums.

(c) These are quick at setting claims.

(d) These add to insurance premium costs as these are
middle man.

() These prove that technology can be effectively used by
insurance companies. -

Which of the following is the central idea of the

passage?

(a) Startups in insurance have been uncommon but are catching
on.

(b) Insurance markets in western countries are safer than in
Asia,

() Fintech firms should be discouraged from the insurance
sector.

(d) Regulation of the insurance market is toe tax.

(e) Government owned insurance should stop underwriting
risk for peer-to-peer insurers.

145. Which of the following is true in the context of the

passage?

(a) Investment in fintech start-ups is surely lacking.

(b) Car insurers have been innovative,

(c) Insurance companies are not exploiting social media
data.

(d) Western insurance companies have not explored the use
of technology.

(€) None of the given statements is true in the context of the
passage.

144

146. What does the author want to convey through the

phrase ‘insurance is tricky to break into’?

(a) The regulations for the insurance sector are unclear an
unfair.

(b) Consumers find that insurance companies are difficult t
comprehend.

(c) Most hospitals refuse to treat patients without a
insurance.

(d) Americans are unwilling to pay for car insurance.

(e) Other than those given as options

147

Which of the following can be said about the insuranc
sector?

(a) It is undergoing a transformation.

(b) it is in the midst of a crisis owing to a recession.

(c) Venture capitalists have lost interest in this sector.

(

(

c
d) It has gained a negative reputation.
e) Its new ways of analysing risk are unsafe.

148. Choose the word which is opposite in meaning to the |
word ‘Purely’ given in bold as used in the passage.
(a) Accurately (b) Morally  (c) Indecently
(d) Foolishly (e) Partially
Choose the word which is most nearly the same in
meaning to the word ‘Honour’ given in bold as used in
the passage.
(@) Glorify  (b) Curse  (c) Pride  (d) Dignify (e) Settle
150. Choose the word which is opposite in meaning to the
word ‘Weighty’ given in bold as used in the passage.
(a) Increasing (b) Brittle  (c) Successful
(d) Soft (e) Slight
Directions (Q. Nos. 151-160) In the followin,
passage, there are blanks, each of which has bee
numbered. Against each, five words are suggeste
one of which fits the blank appropriately. Find o
the appropriate word in each case.
(151) that two people are carving a six-foot slab of woo
at the same time. One is using a hand-chisel, the (152)
chainsaw. If you are (153) in the future of that sla
whom would you watch? This chainsaw or chisel logi
has led some to a (154) that technological education i
more important to humanity’s near future th
biological evolution, now-a-days, it is not the biologic
chisel but the technological chainsaw that is mo
quickly (155) what it means to be human.
The devices we use change the way we live much (15
than any contest among genes. We're the block of woo
even if, sometimes we don’t even fully notice that we'"
(157). Assuming that we really are evolving as we (1
or inhabit more technological ~ prosthetics-li
ever-smarter phones, helpful glasses and brai
cars-here’s the big question. (159) that type of evoluti
take us in (160) directions, as we usually ass
biological evolution does?
151. (a) See
c) Imagine
e) Nightmare
)

149

.

(b) Thinking
(d) Loo

(b) another
(d) opposite



153. (a) given (b) worried 157, (a) together (b) ohanging; </ 5+
(c) interested (d) keen (c) alive (d).crying -
(e) aware (e) limited : ;
154. (a) suggest (b) live 158. (a) leave (b) set
(c) pass (d) ways (c) adapt (d) wear
(e) belief (e) gear
155. (a) meaning (b) allowing 159. (a) How (b) Will
(c) redefining (d) sending (c) Which (d) Do
(e) populating (e) What
156. (a) most (b) highly 160. (a) one (b) ahead
(c) quick (d) too (c) desirable (d) lets
(e) faster (e) future
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